20144203 {10 S8

M
= 1 .

ScienceMet.cn
K. PERER KA 2014-3-3 9:29:02

M4 L ALH

Rl | R | (R | TRME | 5

Q{

D I A <7 O B N = I 28

T

KEFT BN F IS

L2 BRI ARI0FEE =M EL

FRE A (DG X8 AR R S B AR HOR B L L90E AT, BARBA T = AR KR BL.
B BU 19907 20004F . JRIN, FRIFEFRHIF ) 24 ST [H R BE2 5, # e BORZESRA T, 513

WA KRB E b i 2 45 F

WA —F B, BEWIL ST A BT AEPUT B bR 2 SRR, Bt e 7« A
DGR 7 AR\ S 5 SRR i -

G105 0 58 v B, DArh 3R P AR A I AL 2247 0 A2 ARG, K BH S5 B B
LT AN BEAE L0 56 R b AN B 2 B RRUE AR 5% 8% 1K 1. SKIKIZK S, foefd 45 B 5 [ B oG it /K S AR

B, ZE RO 25 62 B SRR 3 D) SE it T R SR ATE RN B AR S e A, S B AR S T 2 e
B, TERCT ST b 58RI 58 b b AR A R A b A AR B

20114F, XTHAR KRN =B B, XA R TAEZ IR S e sy, wil
i PRSI B A A T A 1) E bR R AR Bk K

ChERBERY  (2014-03-03 S55h% B3 1))

R E-mail%:
PUR PP R ARE WA AL, ARERF2E M AT

EEAT.
HaPH T

T

KRRE | MRERE | SORE |

R R NG

- BN I #i3 | Eng

820 Fu | Rk | s |

1
2

GHUR VLAY AR T B U A S T A B

SRb S RAT IR A i TR
A

e LA A SR R 2
FE A 4 R 32417 2 Ak

R AR T e YN SN
as
BRI
%

S P IO MR 5 K R 4
b

DL R bR B s

AG A RS InEORL 7 iny

9
1

5 HASHE AR R ST H 5

- Ja) 3 1 HE AT

2014 [F R} B 253 T % B H

PONK AR 180 7 HN 51 ASK — )
P REIB R I TR
K

HRAHT: MIRHGEAEGRA A NI
g T AR s B 3451k
FILIRIE A K
FEFIRERE L WFFUAERI LA T AR X
i RSV R A LR S AT S e
T FR A TMBARZ TAL

0GR =R K H S A 2 R 4R 3 T

" HH:
= SRGLR T ME: E1lis
= Rk E

G 5 P8 41 A7 9 3

= VDI SN O R e G
= WEE R SR A I
= To y#fFJHor not toiffJd - that is the

question

N AL SEAE £ F K R B

=D



= [42% 3] Bayesian Inference — W
Ecological Applications — 2010. pdf

* fEIEJ20, 20115 I K, R AR A



